

Article

Some Subclasses of Spirallike Multivalent Functions Associated with a Differential Operator

Ekram Elsayed Ali ^{1,2,†} , Mohamed Kamal Aouf ^{3,†} , Rabha Mohamed El-Ashwah ^{4,†}  and Teodor Bulboacă ^{5,*} ¹ Department of Mathematics, Faculty of Science, University of Hail, Hail 81451, Saudi Arabia² Department of Mathematics, Faculty of Science, Port Said University, Port Said 42526, Egypt³ Department of Mathematics, Faculty of Science, Mansoura University, Mansoura 35516, Egypt⁴ Department of Mathematics, Damietta University, New Damietta 34517, Egypt⁵ Faculty of Mathematics and Computer Science, Babeş-Bolyai University, 400084 Cluj-Napoca, Romania

* Correspondence: bulboaca@math.ubbcluj.ro or teodor_bulboaca@hotmail.com; Tel.: +40-72908-7153

† These authors contributed equally to this work.

Abstract: In this paper we study convolution properties of spirallike multivalent functions defined by using a differential operator and higher order derivatives. Using convolution product relations we determine necessary and sufficient conditions for multivalent functions to belong to these classes, and our results generalized many previous results obtained by different authors. We obtain convolution and inclusion properties for new subclasses of multivalent functions defined by using the Dziok-Srivastava operator. Moreover, using a result connected with the Briot-Bouquet differential subordination, we obtain an inclusion relation between some of these classes of functions.

Keywords: analytic function; convolution product; generalized hypergeometric function; Dziok-Srivastava linear operator; spirallike function; differential subordination; Briot-Bouquet differential subordination

MSC: 30C45; 30C80

Citation: Ali, E.E.; Aouf, M.K.; El-Ashwah, R.M.; Bulboacă, T. Some Subclasses of Spirallike Multivalent Functions Associated with a Differential Operator. *Mathematics* **2022**, *10*, 3064. <https://doi.org/10.3390/math10173064>

Academic Editor: Luigi Rodino

Received: 4 August 2022

Accepted: 23 August 2022

Published: 25 August 2022

Publisher's Note: MDPI stays neutral with regard to jurisdictional claims in published maps and institutional affiliations.



Copyright: © 2022 by the authors. Licensee MDPI, Basel, Switzerland. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC BY) license (<https://creativecommons.org/licenses/by/4.0/>).

1. Introduction

With the aid of the convolution (Hadamard) product Dziok and Srivastava [1] defined a well-known operator that will help us to define a few general subclasses of multivalent functions that generalize and unify many of some previous ones introduced and studied by different authors. We determine necessary and sufficient conditions in term of convolution relations such that a multivalent function belong to these classes, that generalize some of the previous results of Sarkar et al. [2] (Theorems 2.1 and 2.2), of Ahuja [3] (Theorems 2.1 and 2.2) and of Padmanabhan and Ganesan [4] (Theorems 1–4). Moreover, using the *Briot-Bouquet* differential subordination we found an inclusion property for these classes. The importance of the results besides in the wide generalities of the convolution and the inclusion theorems that could be useful for those that will follow a special study of some special cases of the subclasses we defined. We would like to emphasize that some other fundamental results regarding introductory and new results of the *Geometric Function Theory* could be found in the recent monographs [5,6].

Let $\mathcal{A}(p)$ denote the class of functions of the for

$$f(z) = z^p + \sum_{k=p+1}^{+\infty} a_k z^k, \quad z \in \mathbb{D} \quad (p \in \mathbb{N} := \{1, 2, \dots\}) \quad (1)$$

which are analytic in the open unit disc $\mathbb{D} := \{z \in \mathbb{C} : |z| < 1\}$.

If f and g are analytic functions in \mathbb{D} we say that f is *subordinate* to g , written $f(z) \prec g(z)$, if there exist a function w which is analytic in \mathbb{D} , with $w(0) = 0$, and $|w(z)| < 1, z \in \mathbb{D}$, such that $f(z) = g(w(z))$ for all $z \in \mathbb{D}$.

Furthermore, if the function g is univalent in \mathbb{D} , then we have the equivalence

$$f(z) \prec g(z) \text{ if and only if } f(0) = g(0) \text{ and } f(\mathbb{D}) \subset g(\mathbb{D}).$$

For the function $f \in \mathcal{A}(p)$ given by (1), and g given by

$$g(z) = z^p + \sum_{k=p+1}^{+\infty} b_k z^k, \quad z \in \mathbb{D} \quad (p \in \mathbb{N}),$$

the Hadamard (or convolution) product of f and g is defined by

$$(f * g)(z) := z^p + \sum_{k=p+1}^{+\infty} a_k b_k z^k, \quad z \in \mathbb{D}.$$

For complex parameters a_1, \dots, a_l and b_1, \dots, b_s , with $b_j \notin \mathbb{Z}_0^- := \{0, -1, -2, \dots\}$ for all $j \in \{1, 2, \dots, s\}$, we now define the generalized hypergeometric function

$${}_lF_s(a_1, \dots, a_l; b_1, \dots, b_s; z) := \sum_{k=0}^{+\infty} \frac{(a_1)_k \dots (a_l)_k}{(b_1)_k \dots (b_s)_k} \cdot \frac{z^k}{k!}, \quad z \in \mathbb{D},$$

$$(l \leq s + 1, l, s \in \mathbb{N}_0 := \mathbb{N} \cup \{0\}),$$

where $(\theta)_\nu$ is the Pochhammer symbol, defined in terms of the Gamma function by

$$(\theta)_\nu := \frac{\Gamma(\theta + \nu)}{\Gamma(\theta)} = \begin{cases} 1, & \text{if } \nu = 0, \theta \in \mathbb{C}^* := \mathbb{C} \setminus \{0\} \\ \theta(\theta + 1) \dots (\theta + \nu - 1), & \text{if } \nu \in \mathbb{N}, \theta \in \mathbb{C}. \end{cases}$$

Corresponding to a function $h_p(a_1, \dots, a_l; b_1, \dots, b_s; z)$ given by

$$h_p(a_1, \dots, a_l; b_1, \dots, b_s; z) := z^p \cdot {}_lF_s(a_1, \dots, a_l; b_1, \dots, b_s; z), \quad z \in \mathbb{D},$$

Dziok and Srivastava [1] considered the linear operator

$$H_p(a_1, \dots, a_l; b_1, \dots, b_s; z) : \mathcal{A}(p) \rightarrow \mathcal{A}(p)$$

defined by the following Hadamard product

$$H_p(a_1, \dots, a_l; b_1, \dots, b_s; z)f(z) := h_p(a_1, \dots, a_l; b_1, \dots, b_s; z) * f(z), \quad z \in \mathbb{D}.$$

Thus, for the function f defined by (1) we have

$$H_p(a_1, \dots, a_l; b_1, \dots, b_s; z)f(z) = z^p + \sum_{k=p+1}^{+\infty} \Gamma_{k-p}[a_1; b_1] a_k z^k, \quad z \in \mathbb{D}, \tag{2}$$

where

$$\Gamma_{k-p}[a_1; b_1] := \frac{(a_1)_{k-p} \dots (a_l)_{k-p}}{(b_1)_{k-p} \dots (b_s)_{k-p}} \cdot \frac{1}{(k-p)!}'$$

and for convenience we write

$$H_{p,l,s}(a_1) := H_p(a_1, \dots, a_l; b_1, \dots, b_s; z).$$

It can be easily verified from the definition (2) that

$$z \left(H_{p,l,s}(a_1) f(z) \right)' = a_1 H_{p,l,s}(a_1 + 1) f(z) - (a_1 - p) H_{p,l,s}(a_1) f(z), \quad z \in \mathbb{D}. \tag{3}$$

It should be remarked that the linear operator $H_{p,l,s}(a_1)$ is a generalization of other linear operators (see [7–13]).

In the following two definitions we will recall some previously defined subclasses of $\mathcal{A}(p)$ that we will use in our article.

Definition 1 (see [14]). Let $p \in \mathbb{N}$, $q \in \mathbb{N}_0$, with $p > q$, and $0 \leq \alpha < p - q$.

(i) We say the function $f \in \mathcal{A}(p)$ is in the class $S_p(q, \alpha)$ if it satisfies the inequality

$$\operatorname{Re} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} > \alpha, z \in \mathbb{D}.$$

(ii) We say the function $f \in \mathcal{A}(p)$ is in the class $K_p(q, \alpha)$ if it satisfies the inequality

$$\operatorname{Re} \left(1 + \frac{zf^{(2+q)}(z)}{f^{(1+q)}(z)} \right) > \alpha, z \in \mathbb{D}.$$

From the above definition it follows that

$$f \in K_p(q, \alpha) \iff F \in S_p(q, \alpha),$$

where $F \in \mathcal{A}(p)$, such that $F^{(q)}(z) = \frac{zf^{(1+q)}(z)}{p - q}, z \in \mathbb{D}$,

and we note that $S_p(0, \alpha) =: S_p(\alpha)$ and $K_p(0, \alpha) =: K_p(\alpha)$ (see [15]).

Definition 2 (see [14]). Let $\lambda \in \mathbb{R}$, with $|\lambda| < \frac{\pi}{2}$, $p \in \mathbb{N}$, $q \in \mathbb{N}_0$, with $p > q$, and $0 \leq \alpha < p - q$.

(i) We say that the function $f \in \mathcal{A}(p)$ is in the class $S_p^\lambda(q, \alpha)$ if it satisfies the inequality

$$\operatorname{Re} \left(e^{i\lambda} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} \right) > \alpha \cos \lambda, z \in \mathbb{D}.$$

(ii) We say the function $f \in \mathcal{A}(p)$ is in the class $C_p^\lambda(q, \alpha)$ if it satisfies the inequality

$$\operatorname{Re} \left[e^{i\lambda} \left(1 + \frac{zf^{(2+q)}(z)}{f^{(1+q)}(z)} \right) \right] > \alpha \cos \lambda, z \in \mathbb{D}.$$

It is easy to check that

$$f \in C_p^\lambda(q, \alpha) \iff F \in S_p^\lambda(q, \alpha),$$

where $F \in \mathcal{A}(p)$, such that $F^{(q)}(z) = \frac{zf^{(1+q)}(z)}{p - q}, z \in \mathbb{D}$.

and we remark that $S_p^0(q, \alpha) =: S_p(q, \alpha)$, $C_p^0(q, \alpha) =: K_p(q, \alpha)$, $S_p^\lambda(0, \alpha) =: S_p^\lambda(\alpha)$ and $C_p^\lambda(0, \alpha) =: C_p^\lambda(\alpha)$ (see [16]).

The next three definitions will introduce some classes connected to the studies of this article.

Definition 3. Let $\lambda \in \mathbb{R}$, with $|\lambda| < \frac{\pi}{2}$, $p \in \mathbb{N}$, $q \in \mathbb{N}_0$, with $p > q$, and $0 \leq \alpha < p - q$. Suppose that ϕ is a univalent function in the unit disk \mathbb{D} with $\phi(0) = 1$, such that

$$\operatorname{Re} \phi(z) > 1 - \frac{1}{p - q - \alpha}, z \in \mathbb{D}. \tag{4}$$

We define the classes $S_{p,q,\alpha}^\lambda(\phi)$ and $C_{p,q,\alpha}^\lambda(\phi)$ by

$$S_{p,q,\alpha}^\lambda(\phi) := \left\{ f \in \mathcal{A}(p) : e^{i\lambda} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} \prec \phi(z)(p - q - \alpha) \cos \lambda + \alpha \cos \lambda + i(p - q) \sin \lambda \right\},$$

and

$$C_{p,q,\alpha}^\lambda(\phi) := \left\{ f \in \mathcal{A}(p) : e^{i\lambda} \left(1 + \frac{zf^{(2+q)}(z)}{f^{(1+q)}(z)} \right) \prec \phi(z)(p - q - \alpha) \cos \lambda + \alpha \cos \lambda + i(p - q) \sin \lambda \right\}.$$

From the above definition we have

$$f \in C_{p,q,\alpha}^\lambda(\phi) \text{ if and only if } F \in S_{p,q,\alpha}^\lambda(\phi), \tag{5}$$

$$\text{where } F \in \mathcal{A}(p), \text{ such that } F^{(q)}(z) = \frac{zf^{(1+q)}(z)}{p - q}, z \in \mathbb{D}.$$

Remark 1. The subclasses defined in the above definition generalize some previous ones like we could see for the next special cases of ϕ .

(i) For $\phi(z) = \frac{1+z}{1-z}$, we obtain the subclasses

$$S_{p,q,\alpha}^\lambda \left(\frac{1+z}{1-z} \right) =: S_\alpha^\lambda(p, q) \quad \text{and} \quad C_{p,q,\alpha}^\lambda \left(\frac{1+z}{1-z} \right) =: C_\alpha^\lambda(p, q) \quad (\text{see Aouf [14]}),$$

which, for $q = 0$ reduces to

$$S_{p,0,\alpha}^\lambda \left(\frac{1+z}{1-z} \right) =: S_p^\lambda(\alpha) \quad \text{and} \quad C_{p,0,\alpha}^\lambda \left(\frac{1+z}{1-z} \right) =: C_p^\lambda(\alpha)$$

(see Libera [17], Srivastava et al. [16]).

(ii) For $\phi(z) = \frac{1 + Az}{1 + Bz}$, with $-1 \leq B < A \leq 1$, we get the next extensions of the above subclasses, i.e.,

$$S_{p,0,\alpha}^\lambda \left(\frac{1 + Az}{1 + Bz} \right) =: S^\lambda(A, B, p, \alpha) \quad (\text{see Aouf [18]}),$$

$$C_{p,0,\alpha}^\lambda \left(\frac{1 + Az}{1 + Bz} \right) =: C^\lambda(A, B, p, \alpha), \quad S_{p,0,\alpha}^0 \left(\frac{1 + Az}{1 + Bz} \right) =: S_p^*(A, B, \alpha),$$

and

$$C_{p,0,\alpha}^0 \left(\frac{1 + Az}{1 + Bz} \right) =: K_p(A, B, \alpha) \quad (\text{see Aouf [15]}).$$

To define the next generalizations of the above subclasses, we shall prove the following lemma:

Lemma 1. Suppose the function $f \in S_{p,q,\alpha}^\lambda(\phi)$.

(i) Then, $F(z) := \frac{f^{(q)}(z)}{\delta(p, q)z^{p-q-1}}$ is a λ -spirallike (univalent) function in \mathbb{D} .

(ii) Consequently, for all $\gamma \in \mathbb{C}$ the multivalued functions $\left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma$ has an analytic branch in \mathbb{D} with $\left. \left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma \right|_{z=0} = 1$.

Proof. If we let $f \in S_{p,q,\alpha}^\lambda(\phi) \subset \mathcal{A}(p)$, then $F \in \mathcal{A}(1)$ and differentiating the definition formula of F we get

$$\frac{zF'(z)}{F(z)} = \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} - p + q + 1, \quad z \in \mathbb{D}.$$

Since $f \in S_{p,q,\alpha}^\lambda(\phi)$ we have

$$e^{i\lambda} \frac{zF'(z)}{F(z)} \prec [(p - q - \alpha)\phi(z) + \alpha - p + q + 1] \cos \lambda + i \sin \lambda =: H(z), \quad (6)$$

and using the assumption (4) it follows that

$$\operatorname{Re} H(z) = \cos \lambda [(p - q - \alpha) \operatorname{Re} \phi(z) + \alpha - p + q + 1] > 0, \quad z \in \mathbb{D}.$$

Therefore, the subordination (6) yields that

$$\operatorname{Re} \left(e^{i\lambda} \frac{zF'(z)}{F(z)} \right) > 0, \quad z \in \mathbb{D},$$

and this last inequality shows that F is λ -spirallike and univalent function in \mathbb{D} (for details, see [19]).

It follows $\frac{F(z)}{z} \neq 0$ for all $z \in \mathbb{D}$, i.e., $\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \neq 0, z \in \mathbb{D}$, and this implies the second part of our lemma. \square

Definition 4. Let $\lambda \in \mathbb{R}$, with $|\lambda| < \frac{\pi}{2}$, $p \in \mathbb{N}$, $q \in \mathbb{N}_0$, with $p > q$, and $0 \leq \alpha < p - q$. Suppose that ϕ is a univalent function in the unit disk \mathbb{D} with $\phi(0) = 1$, and satisfies the condition (4), and let $\gamma \in \mathbb{C}$ be an arbitrary complex number.

(i) The function $g \in \mathcal{A}(p)$ is said to be in the class $S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ if there exists a function $f \in S_{p,q,\alpha}^\lambda(\phi)$ such that

$$g^{(q)}(z) = \delta(p, q)z^{p-q} \left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma, \quad \text{where}$$

$$\delta(p, q) := \frac{p!}{(p - q)!} \quad \text{and} \quad \left. \left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma \right|_{z=0} = 1.$$

(ii) The function $g \in \mathcal{A}(p)$ is said to be in the class $C_{p,q,\alpha}^{\lambda,\gamma}(\phi)$, if $G \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ where $G \in \mathcal{A}(p)$, such that $G^{(q)}(z) = \frac{zG^{(1+q)}(z)}{p - q}, z \in \mathbb{D}$.

Remark that, according to the second part of Lemma 1, since $f \in S_{p,q,\alpha}^\lambda(\phi)$ then the multivalued functions $\left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma$ has an analytic branch in \mathbb{D} with $\left. \left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma \right|_{z=0} = 1$, hence the power function of the above definition is correctly defined.

Remark 2. We note that for appropriate choices of the parameters in the above defined classes of functions we obtain a few earlier studied classes as follows:

(i) For the special case $\gamma = 1$ the classes $S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ and $C_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ coincide with the classes $S_{p,q,\alpha}^{\lambda}(\phi)$ and $C_{p,q,\alpha}^{\lambda}(\phi)$, respectively;

(ii) For $q = \alpha = 0, p = 1$ and $\phi(z) = \frac{1 + Az}{1 + Bz}$, with $-1 \leq B < A \leq 1$, we have $S_{1,0,\alpha}^{\lambda,\gamma}[A, B] =: S^{\lambda,\gamma}[A, B]$ which was studied by Ahuja [20];

(iii) For $q = \alpha = 0$ we have $S_{p,0,0}^{\lambda,\gamma}(\phi) = S_p^{\lambda,\gamma}(\phi)$ and $C_{p,0,0}^{\lambda,\gamma}(\phi) =: C_p^{\lambda,\gamma}(\phi)$ which was studied by Sarkar et al. [2].

Definition 5. Let $\lambda \in \mathbb{R}$, with $|\lambda| < \frac{\pi}{2}$, $p \in \mathbb{N}$, $q \in \mathbb{N}_0$, with $p > q$, and $0 \leq \alpha < p - q$. Suppose that ϕ is a univalent function in the unit disk \mathbb{D} with $\phi(0) = 1$, and satisfies the condition (4).

For $l, s \in \mathbb{N}_0$, with $l \leq s + 1$, we define the following two subclasses of $\mathcal{A}(p)$, that are:

$$S_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi] := S_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1, \dots, a_l; b_1, \dots, b_s; \phi] = \left\{ f \in \mathcal{A}(p) : H_{p,l,s}(a_1)f \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\},$$

and

$$C_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi] := C_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1, \dots, a_l; b_1, \dots, b_s; \phi] = \left\{ f \in \mathcal{A}(p) : H_{p,l,s}(a_1)f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\}.$$

In particular, for $\gamma = 1$, we denote

$$S_{p,q,\alpha;l,s}^{\lambda}[a_1; \phi] := S_{p,q,\alpha;l,s}^{\lambda,1}[a_1; \phi] \quad \text{and} \quad C_{p,q,\alpha;l,s}^{\lambda}[a_1; \phi] := C_{p,q,\alpha;l,s}^{\lambda,1}[a_1; \phi].$$

Moreover, by choosing appropriately the parameters in the above defined two classes of functions we obtain the following special cases introduced and studied by different authors:

(i) For $p = 1, \lambda = q = \alpha = 0$ and $\phi(z) = \frac{1 + Az}{1 + Bz}$, with $-1 \leq B < A \leq 1$, we obtain

$$S_{1,0,0;l,s}^0\left(a_1; \frac{1 + Az}{1 + Bz}\right) =: S_{l,s}^*[a_1; A, B] \quad \text{and} \quad C_{1,0,0;l,s}^0\left(a_1; \frac{1 + Az}{1 + Bz}\right) =: K_{l,s}[a_1; A, B]$$

(see Aouf and Seoudy [21]);

(ii) For $p = 1, q = \alpha = 0$ and $\phi(z) = \frac{1 + Az}{1 + Bz}$, with $-1 \leq B < A \leq 1$, we have

$$S_{1,0,0;l,s}^{\lambda}\left(a_1; \frac{1 + Az}{1 + Bz}\right) =: S_{l,s}^{\lambda}[a_1; A, B] \quad \text{and} \quad C_{1,0,0;l,s}^{\lambda}\left(a_1; \frac{1 + Az}{1 + Bz}\right) =: C_{l,s}^{\lambda}[a_1; A, B]$$

(see Seoudy [22]);

(iii) For $l = 2, s = 1, a_1 = a, a_2 = 1$ and $b_1 = c$, with $a > 0, c > 0$, we get

$$S_{p,q,\alpha}^{\lambda,\gamma}[a, c; \phi] := \left\{ f \in \mathcal{A}(p) : L_p(a, c)f \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\}$$

and

$$C_{p,q,\alpha}^{\lambda,\gamma}[a, c; \phi] := \left\{ f \in \mathcal{A}(p) : L_p(a, c)f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\},$$

where the operator $L_p(a, c)$ was introduced by Saitoh [12];

(iv) For $l = 2, s = 1, a_1 = v + p$ with $v > -p, a_2 = 1$ and $b_1 = v + p + 1$ we obtain

$$S_{p,q,\alpha}^{\lambda,\gamma}[v + p, 1; v + p + 1; \phi] := \left\{ f \in \mathcal{A}(p) : J_{v,p}f \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\}$$

and

$$C_{p,q,\alpha}^{\lambda,\gamma}[v + p, 1; v + p + 1; \phi] := \left\{ f \in \mathcal{A}(p) : J_{v,p}f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\},$$

where $J_{v,p}$ is the generalized Bernardi-Libera-Livingston operator (see [7]);

(v) For $l = 2, s = 1, a_1 = \mu + p$, with $\mu > -p, a_2 = b_1 = 1$ we have

$$S_{p,q,\alpha}^{\lambda,\gamma}[\mu + p, 1; 1; \phi] := \left\{ f \in \mathcal{A}(p) : D^{\mu+p-1}f \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\}$$

and

$$C_{p,q,\alpha}^{\lambda,\gamma}[\mu + p, 1; 1; \phi] := \left\{ f \in \mathcal{A}(p) : D^{\mu+p-1}f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\},$$

where $D^{\mu+p-1}$ is the $(\mu + p - 1)$ -th order Ruscheweyh derivative (see Goel and Sohi [9]);

(vi) For $l = 2, s = 1, a_1 = p + 1, a_2 = 1$ and $b_1 = n + p$, with $n \in \mathbb{Z}, n > -p$, we get

$$S_{p,q,\alpha}^{\lambda,\gamma}[p + 1, 1; n + p; \phi] := \left\{ f \in \mathcal{A}(p) : I_{n,p}f \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\}$$

and

$$C_{p,q,\alpha}^{\lambda,\gamma}[p + 1, 1; n + p; \phi] := \left\{ f \in \mathcal{A}(p) : I_{n,p}f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\},$$

where the operator $I_{n,p}$ was defined by Liu and Noor [10];

(vii) For $l = 2, s = 1, a_1 = \lambda + p$ with $\lambda > -p, a_2 = c$ and $b_1 = a$, with $a, c \in \mathbb{R} \setminus \mathbb{Z}_0^-$, we obtain

$$S_{p,q,\alpha}^{\lambda,\gamma}[\lambda + p, c; a; \phi] := \left\{ f \in \mathcal{A}(p) : I_p^\lambda(a, c)f \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\}$$

and

$$C_{p,q,\alpha}^{\lambda,\gamma}[\lambda + p, c; a; \phi] := \left\{ f \in \mathcal{A}(p) : I_p^\lambda(a, c)f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\},$$

where the operator $I_p^\lambda(a, c)$ was considered by Cho et al. [8];

(viii) For $l = 2, s = 1, a_1 = p + 1, a_2 = 1$ and $b_1 = 1 + p - \lambda$ we have

$$S_{p,q,\alpha}^{\lambda,\gamma}[p + 1, 1; 1 + p - \lambda; \phi] := \left\{ f \in \mathcal{A}(p) : \Omega_z^{(\lambda,p)}f \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\}$$

and

$$C_{p,q,\alpha}^{\lambda,\gamma}[p + 1, 1; 1 + p - \lambda; \phi] := \left\{ f \in \mathcal{A}(p) : \Omega_z^{(\lambda,p)}f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \right\},$$

where the operator $\Omega_z^{(\lambda,p)}$ was introduced by Srivastava and Aouf [13] for $0 \leq \lambda < 1$, and was investigated by Patel and Mishra [11] for $\lambda < p + 1, p \in \mathbb{N}$.

2. Convolution and Inclusion Properties

Our first result represent a necessary and sufficient condition, in term of convolution product, for a function $g \in \mathcal{A}(p)$ to belongs to class $S_{p,q,\alpha}^\lambda(\phi)$.

Theorem 1. Let $f \in \mathcal{A}(p)$, such that $\frac{f^{(q)}(z)}{z^{p-q}} \neq 0$ for all $z \in \mathbb{D}$ and $\gamma \in \mathbb{C}$. We will define the function $g \in \mathcal{A}(p)$, such that $g^{(q)}(z) := \delta(p, q)z^{p-q} \left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma$, where the power function is considered to the main branch, i.e., $\left[\frac{f^{(q)}(z)}{\delta(p, q)z^{p-q}} \right]^\gamma \Big|_{z=0} = 1$.

Then, $g \in S_{p,q,\alpha}^\lambda(\phi)$ if and only if

$$\frac{1}{z^{p-q}} \left[f^{(q)}(z) * \frac{z^{p-q} - Cz^{p-q+1}}{(1-z)^2} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}, \tag{7}$$

where

$$C = C_{\gamma,q,\alpha}(x) := \frac{(p - q - \alpha)(1 - \phi(x)) \cos \lambda - \gamma e^{i\lambda}}{(p - q - \alpha)(1 - \phi(x)) \cos \lambda}. \tag{8}$$

Proof. For any function $f \in \mathcal{A}(p)$ we can easily verify that

$$f^{(q)}(z) = f^{(q)}(z) * \frac{z^{p-q}}{1-z} \quad \text{and} \quad zf^{(1+q)}(z) = f^{(q)}(z) * \left[\frac{z^{p-q+1}}{(1-z)^2} + \frac{(p-q)z^{p-q}}{1-z} \right], \quad z \in \mathbb{D}, \tag{9}$$

and from the definition formula of the function g we get

$$\gamma e^{i\lambda} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} + (p-q)(1-\gamma)e^{i\lambda} = e^{i\lambda} \frac{zg^{(1+q)}(z)}{g^{(q)}(z)}, \quad z \in \mathbb{D}.$$

First, according to the above identity we have that $g \in S_{p,q,\alpha}^\lambda(\phi)$ is equivalent to

$$\gamma e^{i\lambda} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} + (p-q)(1-\gamma)e^{i\lambda} \prec \phi(z)(p-q-\alpha) \cos \lambda + \alpha \cos \lambda + i(p-q) \sin \lambda, \tag{10}$$

and using the definition of the subordination, from (10) it follows that

$$\gamma e^{i\lambda} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} + (p-q)(1-\gamma)e^{i\lambda} \neq \phi(x)(p-q-\alpha) \cos \lambda + \alpha \cos \lambda + i(p-q) \sin \lambda, \tag{11}$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$.

From the convolution relations (9) a simple computation shows that (11) could be rewritten in the following form

$$\frac{1}{z^{p-q}} \left\{ f^{(q)}(z) * \left[\gamma e^{i\lambda} \left(\frac{z^{p-q+1}}{(1-z)^2} + \frac{(p-q)z^{p-q}}{1-z} \right) + \left((p-q-\alpha) \cos \lambda - \phi(x)(p-q-\alpha) \cos \lambda - \gamma(p-q)e^{i\lambda} \right) \frac{z^{p-q}}{1-z} \right] \right\} \neq 0,$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$,

which is equivalent to (7), where C given by (8).

Reversely, like it was shown in the first part of the proof, the assumption (7) is equivalent to (11). Denoting

$$\Phi(z) := \gamma e^{i\lambda} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} + (p-q)(1-\gamma)e^{i\lambda}$$

and

$$\Psi(z) := \phi(z)(p-q-\alpha) \cos \lambda + \alpha \cos \lambda + i(p-q) \sin \lambda,$$

these functions are analytic in \mathbb{D} and Ψ is univalent since ϕ is univalent in \mathbb{D} . The relation (11) shows that $\Phi(\mathbb{D}) \cap \Psi(\partial\mathbb{D}) = \emptyset$ and therefore the simply-connected domain $\Phi(\mathbb{D})$ is included in a connected component of $\mathbb{C} \setminus \Psi(\partial\mathbb{D})$. From here, and using the fact that $\Phi(0) = \Psi(0)$ together with the univalence of the function Ψ , it follows that $\Phi(z) \prec \Psi(z)$ which represents in fact the subordination (10), i.e., $g \in S_{p,q,\alpha}^\lambda(\phi)$. \square

The next result that is also a necessary and sufficient condition for a function $g \in \mathcal{A}(p)$ to belongs to class $S_{p,q,\alpha}^\lambda(\phi)$ generalizes some other previously results like we mention after its proof.

Theorem 2. Let $g \in \mathcal{A}(p)$, such that $\frac{g^{(q)}(z)}{z^{p-q}} \neq 0$ for all $z \in \mathbb{D}$. Then, $g \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ with $\gamma \in \mathbb{C}^*$ if and only if

$$\frac{1}{z^{p-q}} \left[g^{(q)}(z) * \frac{z^{p-q} - Dz^{p-q+1}}{(1-z)^2} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}, \tag{12}$$

where

$$D = D_{\gamma,q,\alpha}(x) := \frac{(p-q-\alpha)(1-\phi(x))\gamma \cos \lambda - e^{i\lambda}}{(p-q-\alpha)(1-\phi(x))\gamma \cos \lambda}. \tag{13}$$

Proof. First, from Definition 4 we have that $g \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ if there exists a function $f \in S_{p,q,\alpha}^{\lambda}(\phi)$ such that $g^{(q)}(z) = \delta(p,q)z^{p-q} \left[\frac{f^{(q)}(z)}{\delta(p,q)z^{p-q}} \right]^{\gamma}$, where $\left[\frac{f^{(q)}(z)}{\delta(p,q)z^{p-q}} \right]^{\gamma} \Big|_{z=0} = 1$.

Differentiating the above definition formula we get

$$\frac{zg^{(q+1)}(z)}{g^{(q)}(z)} = \gamma \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} + (p-q)(1-\gamma), \quad z \in \mathbb{D},$$

and using the fact that $g \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ if and only if $f \in S_{p,q,\alpha}^{\lambda}(\phi)$ it follows that $g \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ is equivalent to

$$\begin{aligned} e^{i\lambda} \frac{zg^{(1+q)}(z)}{g^{(q)}(z)} - e^{i\lambda}(p-q)(1-\gamma) &= \gamma e^{i\lambda} \frac{zf^{(1+q)}(z)}{f^{(q)}(z)} \\ &< \phi(z)(p-q-\alpha)\gamma \cos \lambda + \alpha\gamma \cos \lambda + i\gamma(p-q) \sin \lambda. \end{aligned}$$

Since the right-hand side of the above subordination is a univalent function in \mathbb{D} it follows that

$$\begin{aligned} \gamma e^{i\lambda} \frac{zg^{(1+q)}(z)}{g^{(q)}(z)} - e^{i\lambda}(p-q)(1-\gamma) &\neq \phi(x)(p-q-\alpha)\gamma \cos \lambda \\ &+ \alpha\gamma \cos \lambda + i\gamma(p-q) \sin \lambda, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}. \end{aligned} \tag{14}$$

Finally, from the convolution relations (9), a simple computation shows that (14) is equivalent to (12) where D is given by (13).

Reversely, since $\frac{g^{(q)}(z)}{z^{p-q}} \neq 0$ for all $z \in \mathbb{D}$, it follows that the function $f \in \mathcal{A}(p)$ given by

$$f^{(q)}(z) := \delta(p,q)z^{p-q} \left[\frac{g^{(q)}(z)}{\delta(p,q)z^{p-q}} \right]^{1/\gamma}, \quad z \in \mathbb{D},$$

where $\left[\frac{g^{(q)}(z)}{\delta(p,q)z^{p-q}} \right]^{1/\gamma} \Big|_{z=0} = 1$ is correctly defined. The above definition relation is equivalent to

$$g^{(q)}(z) = \delta(p,q)z^{p-q} \left[\frac{f^{(q)}(z)}{\delta(p,q)z^{p-q}} \right]^{\gamma}, \quad z \in \mathbb{D},$$

where $\left[\frac{f^{(q)}(z)}{\delta(p,q)z^{p-q}} \right]^{\gamma} \Big|_{z=0} = 1$ and by similar computations like in the first part of the proof we deduce that $g \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ is equivalent to (14). Now, denoting

$$\Phi(z) := e^{i\lambda} \frac{zg^{(1+q)}(z)}{g^{(q)}(z)} - e^{i\lambda}(p-q)(1-\gamma)$$

and

$$\Psi(z) := \phi(z)(p - q - \alpha)\gamma \cos \lambda + \alpha\gamma \cos \lambda + i\gamma(p - q) \sin \lambda,$$

and using the same arguments as in the second part of the proof of Theorem 1 we deduce that $\Phi(z) \prec \Psi(z)$, that is $g \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$. \square

Remark 3. (i) For the special case $q = \alpha = 0$ Theorems 1 and 2 reduces to the convolution results obtained by Sarkar et al. [2] (Theorems 2.1 and 2.2);

(ii) Putting $p = 1, q = \alpha = 0, \phi(x) = \frac{1 + Ax}{1 + Bx}$, with $-1 \leq B < A \leq 1$, and writing $-\bar{x}$ as x in Theorems 1 and 2 we obtain the convolution results of Ahuja [3] (Theorems 2.1 and 2.2);

(iii) For $\gamma = 1$ we have $f = g$, where g is defined like in Theorem 1 and $C_{1,q,\alpha} = D_{1,q,\alpha}$. Moreover, for this special case the additional assumptions $\frac{f^{(q)}(z)}{z^{p-q}} \neq 0$ and $\frac{g^{(q)}(z)}{z^{p-q}} \neq 0$ for all $z \in \mathbb{D}$ of these theorems are not necessary, hence both of the results of Theorems 1 and 2 coincide with the following corollary:

Corollary 1. If $f \in \mathcal{A}(p)$, then $f \in S_{p,q,\alpha}^{\lambda}(\phi)$ if and only if (7) holds for

$$C = C_{q,\alpha}(x) := C_{1,q,\alpha}(x) = \frac{(p - q - \alpha)(1 - \phi(x)) \cos \lambda - e^{i\lambda}}{(p - q - \alpha)(1 - \phi(x)) \cos \lambda}. \tag{15}$$

Example 1. Let consider in Theorems 1 and 2 the function

$$\phi(z) = \frac{1 + Az}{1 + Bz}, \quad -1 \leq B < A \leq 1,$$

and $q := p - 1$. Then, the assumption (4) is equivalent to

$$\frac{1 - A}{1 - B} > 1 - \frac{1}{1 - \alpha},$$

which holds for all $0 \leq \alpha < p - q = 1$, and from the above mentioned theorems we obtain the next particular cases, respectively:

1. Let $f \in \mathcal{A}(p)$ such that $\frac{f^{(p-1)}(z)}{z} \neq 0$ for all $z \in \mathbb{D}$, and $\gamma \in \mathbb{C}$. We will define the function $g \in \mathcal{A}(p)$ such that $g^{(p-1)}(z) := p!z \left[\frac{f^{(p-1)}(z)}{p!z} \right]^\gamma$, where the power function is considered to the main branch.

Then, $g \in S_{p,p-1,\alpha}^{\lambda}(\phi)$ if and only if

$$\frac{1}{z} \left[f^{(p-1)}(z) * \frac{z - Cz^2}{(1 - z)^2} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

where

$$C = C_{\gamma,p-1,\alpha}(x) := \frac{(1 - \alpha)(1 - \phi(x)) \cos \lambda - \gamma e^{i\lambda}}{(1 - \alpha)(1 - \phi(x)) \cos \lambda}.$$

2. Let $g \in \mathcal{A}(p)$, such that $\frac{g^{(p-1)}(z)}{z} \neq 0$ for all $z \in \mathbb{D}$. Then, $g \in S_{p,p-1,\alpha}^{\lambda,\gamma}(\phi)$ with $\gamma \in \mathbb{C}^*$, if and only if

$$\frac{1}{z} \left[g^{(p-1)}(z) * \frac{z - Dz^2}{(1 - z)^2} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

where

$$D = D_{\gamma,q,\alpha}(x) := \frac{(1 - \alpha)(1 - \phi(x))\gamma \cos \lambda - e^{i\lambda}}{(1 - \alpha)(1 - \phi(x))\gamma \cos \lambda}.$$

The next theorem is a necessary and sufficient condition for a function $g \in \mathcal{A}(p)$ to belong to class $C_{p,q,\alpha}^\lambda(\phi)$ and it extends a few previously results obtained by different authors.

Theorem 3. *If $f \in \mathcal{A}(p)$, then $f \in C_{p,q,\alpha}^\lambda(\phi)$ if and only if*

$$\frac{1}{z^{p-q}} \left[f^{(q)}(z) * \mathcal{M} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

where

$$\mathcal{M} := \frac{(p-q)z^{p-q} - [(p-q) + C_{q,\alpha}(p-q+1) - 2]z^{p-q-1} + C_{q,\alpha}(p-q-1)z^{p-q+2}}{(1-z)^3}$$

and $C_{q,\alpha} := C_{1,q,\alpha}$ is given by (15).

Proof. If we let

$$G_{p,q}(z) = \frac{z^{p-q} - C_{q,\alpha}z^{p-q+1}}{(1-z)^2}, \quad z \in \mathbb{D},$$

then

$$zG'_{p,q}(z) = \frac{(p-q)z^{p-q} - [(p-q) + C_{q,\alpha}(p-q+1) - 2]z^{p-q+1} + C_{q,\alpha}(p-q-1)z^{p-q+2}}{(1-z)^3}.$$

From (5) and according to the Corollary 1 we deduce that $F \in S_{p,q,\alpha}^\lambda(\phi)$ if and only if

$$\frac{1}{z^{p-q}} \left[F^{(q)}(z) * G_{p,q}(z) \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}. \tag{16}$$

Using (5) in (16) we obtain that $f \in C_{p,q,\alpha}^\lambda(\phi)$ if and only if

$$\frac{1}{z^{p-q}} \left[\frac{zf^{(1+q)}(z)}{p-q} * G_{p,q}(z) \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}. \tag{17}$$

Since the identity

$$\frac{zf^{(1+q)}(z)}{p-q} * G_{p,q}(z) = f^{(q)}(z) * \frac{zG'_{p,q}(z)}{p-q}, \quad z \in \mathbb{D},$$

holds, then (17) is equivalent to

$$\frac{1}{z^{p-q}} \left[f^{(q)}(z) * \frac{zG'_{p,q}(z)}{p-q} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

which completes our proof. \square

Remark 4. (i) Putting $p = 1, q = \alpha = \lambda = 0$ and $\phi(x) = \frac{1 + Ax}{1 + Bx}$, with $-1 \leq B < A \leq 1$, in Corollary 1 and Theorem 3 we obtain the convolution results due to Padmanabhan and Ganesan [4] (Theorems 1 and 2);

(ii) Putting $p = 1, q = \alpha = 0$ and $\phi(x) = \frac{1 + Ax}{1 + Bx}$, with $-1 \leq B < A \leq 1$, in Corollary 1 and Theorem 3 we obtain the convolution results due to Padmanabhan and Ganesan [4] (Theorems 3 and 4).

The following result is a necessary and sufficient condition for a function $g \in \mathcal{A}(p)$ to belong to class $C_{p,q,\alpha}^\lambda(\phi)$ and for the special case $\gamma = 1$ it coincide with the previous theorem.

Theorem 4. Let $f \in \mathcal{A}(p)$ such that $\frac{f^{(1+q)}(z)}{z^{p-q-1}} \neq 0$ for all $z \in \mathbb{D}$. Then, $f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi)$, with $\gamma \in \mathbb{C}^*$, if and only if

$$\frac{1}{z^{p-q}} \left[f^{(q)}(z) * \mathcal{N} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

where

$$\mathcal{N} := \frac{(p-q)z^{p-q} - [(p-q) + D(p-q+1) - 2]z^{p-q+1} + D(p-q-1)z^{p-q+2}}{(1-z)^3}$$

and $D = D_{\gamma,q,\alpha}$ is given by (13).

Proof. Letting

$$H_{p,q}(z) = \frac{z^{p-q} - Dz^{p-q+1}}{(1-z)^2}, \quad z \in \mathbb{D},$$

we have

$$zH'_{p,q}(z) = \frac{(p-q)z^{p-q} - [(p-q) + D(p-q+1) - 2]z^{p-q+1} + D(p-q-1)z^{p-q+2}}{(1-z)^3}.$$

According to the Definition 4 we have

$$f \in C_{p,q,\alpha}^{\lambda,\gamma}(\phi) \text{ if and only if } F \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi), \tag{18}$$

where $F \in \mathcal{A}(p)$, such that $F^{(q)}(z) = \frac{zf^{(1+q)}(z)}{p-q}, z \in \mathbb{D}$,

and from Theorem 2 we deduce that $F \in S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ if and only if

$$\frac{1}{z^{p-q}} \left[F^{(q)}(z) * H_{p,q}(z) \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}. \tag{19}$$

Thus, using (18) in (19) we obtain that $f \in C_{p,q,\alpha}^{\lambda}(\phi)$ if and only if

$$\frac{1}{z^{p-q}} \left[\frac{zf^{(1+q)}(z)}{p-q} * H_{p,q}(z) \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}. \tag{20}$$

From the identity

$$\frac{zf^{(1+q)}(z)}{p-q} * H_{p,q}(z) = f^{(q)}(z) * \frac{zH'_{p,q}(z)}{p-q}, \quad z \in \mathbb{D},$$

it follows that (20) is equivalent to

$$\frac{1}{z^{p-q}} \left[f^{(q)}(z) * \frac{zH'_{p,q}(z)}{p-q} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

and the proof of our theorem is complete. \square

Example 2. Let the function

$$\phi(z) = \frac{1 + Az}{1 + Bz}, 1 \leq B < A \leq 1,$$

and $q := p - 1$. From the Theorems 3 and 4 we obtain the next two special cases, respectively:

1. If $f \in \mathcal{A}(p)$, then $f \in C_{p,p-1,\alpha}^\lambda(\phi)$ if and only if

$$\frac{1}{z} \left[f^{(p-1)}(z) * \mathcal{M} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

where

$$\mathcal{M} := \frac{z + 1 - 2C_{p-1,\alpha}}{(1-z)^3}$$

and $C_{p-1,\alpha} := C_{1,p-1,\alpha}$ is given by (15).

2. Let $f \in \mathcal{A}(p)$, such that $f^{(p)}(z) \neq 0$ for all $z \in \mathbb{D}$. Then, $f \in C_{p,p-1,\alpha}^{\lambda,\gamma}(\phi)$ with $\gamma \in \mathbb{C}^*$, if and only if

$$\frac{1}{z} \left[f^{(p-1)}(z) * \mathcal{N} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

where

$$\mathcal{N} := \frac{z - (2D - 1)z^2}{(1-z)^3}$$

and $D = D_{\gamma,p-1,\alpha}$ is given by (13).

Remark 5. Note that for the special case $\gamma = 1$ we have $C_{1,q,\alpha} = D_{1,q,\alpha}$, and using the same reasons like in Remark 3 (iii) we deduce that the results of Theorems 3 and 4 coincide.

The following result represents a necessary and sufficient condition for a function $g \in \mathcal{A}(p)$ to belongs to class $S_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ connected with the Dziok and Srivastava convolution operator [1].

Theorem 5. Let $f \in \mathcal{A}(p)$ of the form (1) such that $\frac{(H_{p,l,s}(a_1)f(z))^{(q)}}{z^{p-q}} \neq 0$ for all $z \in \mathbb{D}$. Then, $f \in S_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ with $\gamma \in \mathbb{C}^*$, if and only if

$$1 + \sum_{k=p+1}^{+\infty} \frac{(p-q-\alpha)(1-\phi(x))\gamma \cos \lambda + (k-p)e^{i\lambda}}{(p-q-\alpha)(1-\phi(x))\gamma \cos \lambda} \cdot \frac{\delta(k,p)}{\delta(p,q)} \Gamma_{k-p}[a_1; b_1] a_k z^{k-p} \neq 0,$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$. (21)

Proof. According to Theorem 2 we have that $f \in S_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ if and only if

$$\frac{1}{z^{p-q}} \left[(H_{p,l,s}(a_1)f(z))^{(q)} * \frac{z^{p-q} - Dz^{p-q+1}}{(1-z)^2} \right] \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D},$$

where D is given by (13), which is equivalent to

$$\frac{1}{z^{p-q}} \left\{ \left[\delta(p,q)z^{p-q} + \sum_{k=p+1}^{+\infty} \delta(k,p) \Gamma_{k-p}[a_1; b_1] a_k z^{k-q} \right] * \frac{z^{p-q} - Dz^{p-q+1}}{(1-z)^2} \right\} \neq 0,$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$. (22)

Since

$$\frac{z^{p-q}}{(1-z)^2} = z^{p-q} + \sum_{k=p+1}^{+\infty} (k-p+1)z^{k-p}, \quad z \in \mathbb{D},$$

$$\frac{z^{p-q+1}}{(1-z)^2} = z^{p-q+1} + \sum_{k=p+1}^{+\infty} (k-p+1)z^{k-q+1} = \sum_{k=p+1}^{+\infty} (k-p)z^{k-q}, \quad z \in \mathbb{D},$$

after a simple computation we have obtain that (22) is equivalent to

$$1 + \sum_{r=p+1}^{+\infty} [1 + (1 - D)(k - p)] \cdot \frac{\delta(k, q)}{\delta(p, q)} \Gamma_{k-p}[a_1; b_1] a_k z^{k-p} \neq 0,$$

for all $x \in \mathbb{C} : |x| = 1$ and for all $z \in \mathbb{D}$, which simplifies to (21), and the proof of the theorem is completed. \square

A similar result with the previous theorem deals with a sufficient condition for a function $g \in \mathcal{A}(p)$ to belongs to class $C_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ define by using the Dziok and Srivastava convolution operator.

Theorem 6. Let $f \in \mathcal{A}(p)$, such that $\frac{(H_{p,q,s}(a_1)f(z))^{(1+q)}}{z^{p-q-1}} \neq 0$ for all $z \in \mathbb{D}$. Then, $f \in C_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ with $\gamma \in \mathbb{C}^*$, if and only if

$$1 + \sum_{k=p+1}^{+\infty} \frac{k - q}{p - q} \cdot \frac{(p - q - \alpha)(1 - \phi(x))\gamma \cos \lambda + (k - p)e^{i\lambda}}{(p - q - \alpha)(1 - \phi(x))\gamma \cos \lambda} \cdot \frac{\delta(k, q)}{\delta(p, q)} \Gamma_{k-p}[a_1; b_1] a_k z^{k-p} \neq 0, \text{ for all } x \in \mathbb{C} : |x| = 1, \text{ for all } z \in \mathbb{D}. \quad (23)$$

Proof. From Theorem 4 we have that $f \in C_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ if and only if

$$\frac{1}{z^{p-q}} \left[(H_{p,q,s}(a_1)f(z))^{(q)} \right. \\ \left. * \frac{(p - q)z^{p-q} - [(p - q) + D(p - q + 1) - 2]z^{p-q+1} + D(p - q - 1)z^{p-q+2}}{(1 - z)^3} \right] \neq 0, \quad (24)$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$,

where D is given by (13). It can be easily shown that

$$\frac{z^{p-q}}{(1 - z)^3} = z^{p-q} + \sum_{k=p+1}^{+\infty} \frac{(k - p + 1)(k - p + 2)}{2} z^{k-q}, \quad z \in \mathbb{D},$$

$$\frac{z^{p-q+1}}{(1 - z)^3} = \sum_{k=p+1}^{+\infty} \frac{(k - p)(k - p + 1)}{2} z^{k-q}, \quad z \in \mathbb{D},$$

and

$$\frac{z^{p-q+2}}{(1 - z)^3} = \sum_{k=p+2}^{+\infty} \frac{(k - p - 1)(k - p)}{2} z^{k-q}, \quad z \in \mathbb{D}.$$

Using these identities and after some simple computations we deduce that (24) is equivalent to

$$\frac{1}{z^{p-q}} \left[\delta(p, q)z^{p-q} + \sum_{k=p+1}^{+\infty} \frac{k - q}{p - q} [1 + (1 - D)(k - p)] \delta(k, q) \Gamma_{k-p}[a_1; b_1] a_k z^{k-q} \right] \neq 0,$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$,

which reduces to (23). \square

Example 3. If we consider the function

$$\phi(z) = \frac{1 + Az}{1 + Bz}, 1 \leq B < A \leq 1,$$

and $q := p - 1$, then from the Theorems 5 and 6 we obtain the next result, respectively:

1. Let $f \in \mathcal{A}(p)$ of the form (1), such that $(H_{p,l,s}(a_1)f(z))^{(p-1)} \neq 0$ for all $z \in \mathbb{D}$. Then, $f \in S_{p,p-1,\alpha;l,s}^{\lambda,\gamma}[a_1;\phi]$ with $\gamma \in \mathbb{C}^*$, if and only if

$$1 + \sum_{k=p+1}^{+\infty} \frac{(1-\alpha)(1-\phi(x))\gamma \cos \lambda + (k-p)e^{i\lambda}}{(1-\alpha)(1-\phi(x))\gamma \cos \lambda} \cdot \frac{\delta(k,p)}{p!} \Gamma_{k-p}[a_1;b_1] a_k z^{k-p} \neq 0,$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$.

2. Let $f \in \mathcal{A}(p)$, such that $(H_{p,p-1,s}(a_1)f(z))^{(p)} \neq 0$ for all $z \in \mathbb{D}$. Then, $f \in C_{p,p-1,\alpha;l,s}^{\lambda,\gamma}[a_1;\phi]$ with $\gamma \in \mathbb{C}^*$, if and only if

$$1 + \sum_{k=p+1}^{+\infty} (k-p+1) \cdot \frac{(1-\alpha)(1-\phi(x))\gamma \cos \lambda + (k-p)e^{i\lambda}}{(1-\alpha)(1-\phi(x))\gamma \cos \lambda} \cdot \frac{\delta(k,p-1)}{p!} \Gamma_{k-p}[a_1;b_1] a_k z^{k-p} \neq 0,$$

for all $x \in \mathbb{C} : |x| = 1$, for all $z \in \mathbb{D}$.

Now we will give an inclusion relation for the classes $S_{p,q,\alpha;l,s}^{\lambda}[a_1;\phi]$ and to prove this result we shall require the following lemma:

Lemma 2 (see [23]). Let ϕ be convex (univalent) in \mathbb{D} , with $\text{Re}[\beta\phi(z) + \gamma] > 0$, $z \in \mathbb{D}$. If θ is analytic in \mathbb{D} with $\theta(0) = \phi(0)$, then

$$\theta(z) + \frac{z\theta'(z)}{\beta\theta(z) + \gamma} \prec \phi(z) \text{ implies } \theta(z) \prec \phi(z).$$

The above subordination is the well-known Briot–Bouquet type differential subordination and it allows us to find a simple sufficient condition such that the inclusion $S_{p,q,\alpha;l,s}^{\lambda}[a_1 + 1;\phi] \subset S_{p,q,\alpha;l,s}^{\lambda}[a_1;\phi]$ holds.

Theorem 7. Suppose that the function ϕ is convex (univalent) in \mathbb{D} and satisfies the inequality

$$\text{Re}\left(e^{-i\lambda}\phi(z)\right) > \cos \lambda - \frac{\text{Re } a_1}{(p-q-\alpha)\cos \lambda}, z \in \mathbb{D}. \tag{25}$$

If $f \in S_{p,q,\alpha;l,s}^{\lambda}[a_1 + 1;\phi]$, such that $\frac{(H_{p,l,s}(a_1)f(z))^{(q)}}{z^{p-q}} \neq 0$ for all $z \in \mathbb{D}$, then $f \in S_{p,q,\alpha;l,s}^{\lambda}[a_1;\phi]$.

Proof. Suppose that $f \in S_{p,q,\alpha;l,s}^{\lambda}[a_1 + 1;\phi]$ and let us define the function θ by

$$\theta(z) = \frac{1}{(p-q-\alpha)\cos \lambda} \left[\frac{e^{i\lambda}z(H_{p,l,s}(a_1)f(z))^{(1+q)}}{(H_{p,l,s}(a_1)f(z))^{(q)}} - \alpha \cos \lambda - i(p-q)\sin \lambda \right], z \in \mathbb{D}. \tag{26}$$

Then, θ is analytic in \mathbb{D} and from (3) we obtain

$$z(H_{p,l,s}(a_1)f(z))^{(1+q)} = a_1(H_{p,l,s}(a_1 + 1)f(z))^{(q)} - (a_1 - p + q)(H_{p,l,s}(a_1)f(z))^{(q)}, z \in \mathbb{D}.$$

Therefore, (26) can be written as

$$\begin{aligned} &\theta(z) \cos \lambda + \frac{a_1 - p + q}{p - q - \alpha} e^{i\lambda} + \frac{\alpha \cos \lambda}{p - q - \alpha} + \frac{i(p - q) \sin \lambda}{p - q - \alpha} \\ &= \frac{e^{i\lambda} a_1 \left(H_{p,l,s}(a_1 + 1) f(z) \right)^{(q)}}{(p - q - \alpha) \left(H_{p,l,s}(a_1) f(z) \right)^{(q)}}, \quad z \in \mathbb{D}, \end{aligned}$$

and differentiating logarithmically the above identity, from $f \in S_{p,q,\alpha;l,s}^\lambda[a_1 + 1; \phi]$ and by using (26) we obtain

$$\theta(z) + \frac{z\theta'(z)}{[(p - q - \alpha)\theta(z) \cos \lambda + \alpha \cos \lambda + i(p - q) \sin \lambda]e^{-i\lambda} + (a_1 - p + q)} \prec \phi(z). \quad (27)$$

Since

$$\operatorname{Re} \left\{ [(p - q - \alpha)\phi(z) \cos \lambda + \alpha \cos \lambda + i(p - q) \sin \lambda]e^{-i\lambda} + (a_1 - p + q) \right\} > 0, \quad z \in \mathbb{D},$$

is equivalent to (25), according to Lemma 2 the subordination (27) implies $\theta(z) \prec \phi(z)$ which proves that $f \in S_{p,q,\alpha;l,s}^\lambda[a_1; \phi]$. \square

Example 4. 1. For $\lambda = 0$ the above theorem reduces to the next result:

Suppose that the function ϕ is convex (univalent) in \mathbb{D} and satisfies the inequality

$$\operatorname{Re} \phi(z) > 1 - \frac{\operatorname{Re} a_1}{p - q - \alpha}, \quad z \in \mathbb{D}.$$

If $f \in S_{p,q,\alpha;l,s}^0[a_1 + 1; \phi]$ such that $\frac{\left(H_{p,l,s}(a_1) f(z) \right)^{(q)}}{z^{p-q}} \neq 0$ for all $z \in \mathbb{D}$, then $f \in S_{p,q,\alpha;l,s}^0[a_1, \phi]$.

2. For

$$\phi(z) = \frac{1 + Az}{1 + Bz}, \quad 1 \leq B < A \leq 1,$$

and $q := p - 1$, the above special case becomes:

Suppose that $-1 \leq B < A \leq 1$ and satisfies the inequality

$$\frac{1 - A}{1 - B} > 1 - \frac{\operatorname{Re} a_1}{1 - \alpha}, \quad z \in \mathbb{D}.$$

If $f \in S_{p,p-1,\alpha;l,s}^0[a_1 + 1; \phi]$ such that $\frac{\left(H_{p,l,s}(a_1) f(z) \right)^{(p-1)}}{z} \neq 0$ for all $z \in \mathbb{D}$, then $f \in S_{p,p-1,\alpha;l,s}^0[a_1, \phi]$.

Remark 6. For special choices for a_i $i = 1, \dots, l$ and b_j $j = 1, \dots, s$, where $l, s \in \mathbb{N}_0$, we can obtain the corresponding results for different linear operators which are defined in the introduction.

3. Concluding Remarks

Using higher order derivatives we defined the classes $S_{p,q,\alpha}^\lambda(\phi)$ and $S_{p,q,\alpha}^{\lambda,\gamma}(\phi)$ that for special choices of ϕ generalize some classes previously studied by Aouf [14], Libera [17], Srivastava et al. [16], and Aouf [15,18]. In the first two theorems we determine, in term of convolution product, necessary and sufficient conditions for a function to belong to these classes, respectively. For special choices of the parameters these results extend those of Sarkar et al. [2] and of Ahuja [3].

For the other new subclasses $C_{p,q,\alpha}^\lambda(\phi)$ and $C_{p,q,\alpha}^{\lambda,\gamma}(\phi)$, the Theorems 3 and 4 give us necessary and sufficient condition for a function to be in these classes, respectively, extending for particular cases of the parameters and of the function ϕ some results of Padmanabhan and Ganesan [4].

The next two theorems deal with necessary and sufficient conditions for a multivalent function to be in the new defined classes $S_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ and $C_{p,q,\alpha;l,s}^{\lambda,\gamma}[a_1; \phi]$ introduced by using higher order derivatives and the well-known Dziok-Srivastava linear operator, that generalize the previous ones, while the last result gives us a sufficient condition such the inclusion $S_{p,q,\alpha;l,s}^\lambda[a_1 + 1; \phi] \subset S_{p,q,\alpha;l,s}^\lambda[a_1, \phi]$ holds.

The results we obtain are new and could help the researchers in the field of *Geometric Function Theory* to obtain other new results in this field, or for used them in some appropriate particular cases for different studies.

Author Contributions: Conceptualization, E.E.A., M.K.A., R.M.E.-A. and T.B.; methodology, E.E.A., M.K.A., R.M.E.-A. and T.B.; validation, E.E.A., M.K.A., R.M.E.-A. and T.B.; investigation, E.E.A., M.K.A., R.M.E.-A. and T.B.; resources, E.E.A., M.K.A., R.M.E.-A. and T.B.; data curation, E.E.A., M.K.A., R.M.E.-A. and T.B.; writing—original draft preparation, E.E.A., M.K.A., R.M.E.-A. and T.B.; writing—review and editing, E.E.A., M.K.A., R.M.E.-A. and T.B.; supervision, E.E.A., M.K.A., R.M.E.-A. and T.B.; project administration, E.E.A., M.K.A., R.M.E.-A. and T.B.; funding acquisition, E.E.A. All authors have read and agreed to the published version of the manuscript.

Funding: This research received no external funding.

Acknowledgments: The authors are grateful to the reviewers for their valuable remarks, comments, and advice, that help us to improve the quality of the manuscript.

Conflicts of Interest: The authors declare no conflict of interest.

References

1. Dziok, J.; Srivastava, H.M. Classes of analytic functions associated with the generalized hypergeometric function. *Appl. Math. Comput.* **1999**, *103*, 1–13. [\[CrossRef\]](#)
2. Sarkar, N.; Goswami, P.; Bulboacă, T. Subclasses of spirallike multivalent functions. *Math. Comput. Model.* **2011**, *54*, 3189–3196. [\[CrossRef\]](#)
3. Ahuja, O.P. Hadamard products and neighbourhoods of spirallike functions. *Yokohama Math. J.* **1993**, *40*, 95–103.
4. Padmanabhan, K.S.; Ganesan, M.S. Convolution conditions for certain classes of analytic functions. *Indian J. Pure Appl. Math.* **1984**, *15*, 777–780.
5. Pavlović, M. *Function Classes on Unit Disc—An Introduction*; Studies in Mathematics; De Gruyter: Berlin, Germany, 2014; Volume 52.
6. Todorčević, V. *Harmonic Quasiconformal Mappings and Hyperbolic Type Metrics*; Springer: Cham, Switzerland, 2019.
7. Choi, J.H.; Saigo, M.; Srivastava, H.M. Some inclusion properties of a certain family of integral operators. *J. Math. Anal. Appl.* **2002**, *276*, 432–445. [\[CrossRef\]](#)
8. Cho, N.E.; Kwon, O.H.; Srivastava, H.M. Inclusion and argument properties for certain subclasses of multivalent functions associated with a family of linear operators. *J. Math. Anal. Appl.* **2004**, *292*, 470–483. [\[CrossRef\]](#)
9. Goel, R.M.; Sohi, N.S. A new criterion for p -valent functions. *Proc. Amer. Math. Soc.* **1980**, *78*, 353–357. [\[CrossRef\]](#)
10. Liu, J.L.; Noor, K.I. Some properties of Noor integral operator. *J. Natur. Geom.* **2002**, *21*, 81–90.
11. Patel, J.; Mishra, A.K. On certain subclasses of multivalent functions associated with an extended differintegral operator. *J. Math. Anal. Appl.* **2007**, *332*, 109–122. [\[CrossRef\]](#)
12. Saitoh, H. A linear operator and its applications of first order differential subordination. *Math. Japon.* **1996**, *44*, 31–38.
13. Srivastava, H.M.; Aouf, M.K. A certain fractional derivative operator and its applications to a new class of analytic and multivalent functions with negative coefficients I. *J. Math. Anal. Appl.* **1992**, *171*, 1–13. [\[CrossRef\]](#)
14. Aouf, M.K. Bounded p -valent Robertson functions defined by using a differential operator. *J. Frankl. Inst.* **2010**, *347*, 1927–1941. [\[CrossRef\]](#)
15. Aouf, M.K. A generalization of multivalent functions with negative coefficients. *J. Korean Math. Soc.* **1988**, *25*, 53–66. [\[CrossRef\]](#)
16. Srivastava, H.M.; Aouf, M.K.; Owa, S. Certain classes of multivalent functions of order α and type β . *Bull. Soc. Math. Belg.-Tijdschr. Belg. Wisk. Gen* **1990**, *42*, 31–66.
17. Libera, R.J. Univalent α -spiral functions. *Canad. J. Math.* **1967**, *19*, 449–456. [\[CrossRef\]](#)
18. Aouf, M.K. On coefficient bounds of a certain class of p -valent λ -spiral functions of order α . *Int. J. Math. Math. Sci.* **1987**, *10*, 259–266. [\[CrossRef\]](#)
19. Špaček, L. Contribution à la théorie des fonctions univalentes. *Čas. Pěst. Mat.* **1932**, *62*, 12–19. [\[CrossRef\]](#)

20. Ahuja, O.P. Families of analytic functions related to Ruscheweyh derivatives of subordinate to convex functions. *Yokohama Math. J.* **1993**, *41*, 39–50.
21. Aouf, M.K.; Seoudy, T.M. Classes of analytic functions related to the Dziok-Srivastava operator. *Integral Transforms Spec. Funct.* **2011**, *22*, 423–430. [[CrossRef](#)]
22. Seoudy, T.M. Classes of spirallike functions defined by the Dziok-Srivastava operator. *Matematiche* **2014**, *69*, 93–102.
23. Eenigenburg, P.J.; Miller, S.S.; Mocanu, P.T.; Reade, M.O. Second order differential inequalities in the complex plane. *J. Math. Anal. Appl.* **1972**, *65*, 289–305.